Evaluate each of the following Integrals
I. Very Short Answer Type Questions

1.

3.

11.

13.

15.

17.

19.

21 |

I1. Short Answer Type Questions

22. |
24. |

-(tanz 3x) dx

-(cosz 5x) dx

. cos 2x
i )2 dx
| sin“xcos“x

tan x dx

secx+tanx

A (sin2 Y — COS>

X - X

- dx
. L Sin X cos x

'(sin?.r)dt

3

I\ cos’ x
'(coslx)d\,

COoS X

[ cosg.x)dx

cos™ x

'(coslr)dt

sm 2

(COS:Z X
- dx
\ Sin 2

-(
sin” Y)dt

(sin’ x cos” x) dx

l+smx
dx
l—smr

10.

12.

14.

16.

18.

20.

23.

25.

-(sinz 3x) dx
-[tanz (5x + 3)] dx

dx
¥ (:4in2 x cos® x)

J.l+cosi?.x

( sin Zr)dx

J\sin’ x

t[ sin 2x
d
- \sin4:c) g

.'(co.s P.r) e

sSin x

'fcosz,r)
g Lsm X

(sin?x
- \cosr

[ COS X
dx
' \ Sln X

J(sins x cos’ x) dx

J.,/l + cos 2x dx

Scanned with CamScanner



26. \/ | +sin 2x dx 27. ‘.\ﬁ + 2 tan x (sec x + tan x) dx
A e Vv v o —
28, cos 2x — cos 20, ) e 29. co§ 2x c.os 20&) e
\ cosx+cosa ) J\ sinx+sin o
N P _ 1 ol
30. cos .2x cos 20, r 31 cos 2x + cos 20,
L sin(x+o) | /| cos(x—o)
3.  COS 2x + cgs 20, o 33 ‘co§ 2x+cos 20 i
COS X —Sin ¢, J sinx+cos
34. |[sin 3x cos 2x] dx 35. ) |sin 7x {1~ cos 4x] dx
; of \
36. 5‘33—55) dhx 37 [[ 083X |
J\cos2x Y\ cos” x
35, ([ 3x)dx 39, '(cos?x\ e
J\ sinx cos” x

Scanned with CamScanner



